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DD–2047 

B. Com. (Part III) EXAMINATION, 2020 

(Optional Group A—Finance Area) 

(Group—III) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ßvf/kdre ykHk dk mís’; O;olk; lapkyu dh lekurk dks 
ij[kus ds fy;s mi;ksxh dlkSVh izLrqr ugha djrk gSAÞ O;k[;k 
dhft,A 

“The goal of profit maximisation does not provide an 

operationally useful criteria for measuring the success of 

business operations.” Explain it. 
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vFkokvFkokvFkokvFkok    
(Or) 

foŸk dk;Z dh ifjHkk”kk nhft,A foŸk dk;Z dh izd`fr rFkk {ks= 
dh foospuk dhft,A 
Define finance function. Discuss its nature and scope. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- foŸkh; izcU/k ls vki D;k le>rs gSa \ vk/kqfud ;qx esa foŸkh; 
izcU/k dk egŸo rFkk lhek,¡ Li”V dhft,A 
What do you understand by financial management ? 

Explain the importance and limitations of financial 

management in modern era. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr fooj.k nks e’khuksa x rFkk y ls lEcfU/kr gS % 

 e’khu x e’khu y 

ykxr ¼`½ 1,12,250 1,12,250 

vuqekfur thou 5 o”kZ 5 o”kZ 

vuqekfur lsyost ewY; ¼`½ 6,000 6,000 

dj rFkk kl ds ckn okf”kZd vk; % 
 ` ` 

  I o”kZ 6,750 22,750 

  II o”kZ 10,750 18,750 

  III o”kZ 14,750 14,750 

  IV o”kZ 18,750 10,750 

  V o”kZ 22,750 6,750 

 [ 3 ] DD–2047 

 (A-2) P. T. O. 

e’khu ^,Dl* ij rhljs o”kZ ds vUr esa vksojgkWfyax pktsZt 

` 50]000A lh/kh js[kk i)fr ls kl dkVk x;k gSA dVkSrh nj 
10% gSA 10% ij ik¡p o”kks± ds fy, ewY; dkjd gS % 

o”kZ P. V. F. 

I 0.909 

II 0.826 

III 0.751 

IV 0.683 

V 0.621 

orZeku ewY; jhfr dk iz;ksx djrs gq, lq>kb;s fd fdl e’khu 
dks pquuk pkfg, \ 
The following details relate to the two machines x and y : 

 Machine x Machine y 

Cost (`) 1,12,250 1,12,250 

Estimated life 5 years 5 years 

Estimated Salvage Value (`) 6,000 6,000 

Annual income after tax and depreciation : 

 ` ` 

  I year 6,750 22,750 

  II year 10,750 18,750 

  III year 14,750 14,750 

  IV year 18,750 10,750 

  V year 22,750 6,750 

Overhauling charges at the end of 3rd year ` 50,000 in 

case of machine x. Depreciation has been charged at 

Straight Line Method. Discounting rate in 10%. 
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P. V. F. at 10% for the five years are : 

Year P. V. F. 

I 0.909 

II 0.826 

III 0.751 

IV 0.683 

V 0.621 

Using present value method, suggest which machine 

should  be chosen ? 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- iw¡th dh ykxr dh ifjHkk”kk nhft,A le>kb;s fd vki dEiuh 

ds iw¡th dh Hkkjkafdr vkSlr ykxr dh x.kuk dSls djsaxs \ 

Define cost of capital. State how would you determine the 

weighted average cost of capital of a company ? 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr iwokZuqeku x rFkk y dEifu;ksa ls lEcfU/kr gSa % 

 x y 

foØ; ,oa mRiknu ¼bdkb;k¡½ 80000 100000 

ifjorZu’khy ykxr ¼izfr bdkbZ½ ¼`½ 4 3 

LFkk;h ykxr ¼`½ 2,40,000 2,50,000 

_.k ij C;kt ¼`½ 1,20,000 2,50,000 

foØ; ewY; izfr bdkbZ 10 8 
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mDr leadksa ds vk/kkj ij % 

(i) ifjpkyu yhojst 

(ii) foŸkh; yhojst 
(iii) la;qDr yhojst dh x.kuk dhft,A 
The following projections are related to companies 

x and y : 

 x y 

Output and Sales (units)  80000 100000 

Variable Costs p. u. (`) 4 3 

Fixed Costs (`) 2,40,000 2,50,000 

Interest burden on Debt (`) 1,20,000 2,50,000 

Selling Price p. u. 10 8 

On the basis of above data, compute : 

(i) Operating Leverage 

(ii) Financial Leverage 

(iii) Combined Leverage 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- A fyfeVsM dk fpëk fuEu izdkj gS % 

nkf;Ronkf;Ronkf;Ronkf;Ro    jkf’k ¼jkf’k ¼jkf’k ¼jkf’k ¼`̀̀̀½½½½    lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    jkf’k ¼jkf’k ¼jkf’k ¼jkf’k ¼`̀̀̀½½½½    

lerk va’k iw¡th 8,00,000  LFkk;h lEifŸk;k¡ 6,40,000 

8% _.ki= 6,00,000  jksdM+ 72,000 

O;kikfjd ysunkj 80,000  nsunkj 4,88,000 

ns; fcy 1,20,000  izkI; fcy 1,00,000 

   LdU/k 1,28,000 

   fofu;ksx 1,72,000 

 16,00,000  16,00,000 
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mi;qZDr fpës ls fuEufyf[kr vuqikrksa dh x.kuk dhft, % 

(i) iw¡th nfUrdj.k vuqikr 

(ii) _.k&lerk vuqikr 

(iii)   ‘kks/ku {kerk vuqikr 

Following is the Balance Sheet of A Ltd. : 

Liabilities 
Amount 

(`̀̀̀) 
Assets 

Amount 

(`̀̀̀) 

Equity Share Capital 8,00,000  Fixed Assets 6,40,000 

8% Debentures 6,00,000  Cash 72,000 

Trade Creditors 80,000  Debtors 4,88,000 

B/P 1,20,000  B/R 1,00,000 

   Stock 1,28,000 

   Investment 1,72,000 

 16,00,000  16,00,000 

Calculate the following ratios from the above Balance 

Sheet : 

(i) Capital Gearing Ratio 

(ii) Debt-Equity Ratio 

(iii) Solvency Ratio 

vFkokvFkokvFkokvFkok    
(Or) 

ykHkka’k ds forj.k ls lEcfU/kr fofHkUu uhfr;ksa dh O;k[;k 
dhft,A fdlh dEiuh }kjk fdu n’kkvksa esa Lda/k&ykHkka’k dk 
forj.k fd;k tkuk pkfg, \ 

Explain various policies relating to allocation of dividend. 

Under what conditions should the allocation of dividends 

be made by a company ? 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- fuEufyf[kr lwpukvksa ls tuojh ls vizSy rd dh vof/k ds fy, 
jksdM+ ctV rS;kj dhft, % 

vk’kkuq:i fcØh vk’kkuq:i [kjhn 
 `  ` 

tuojh 60,000 tuojh 48,000 

Qjojh 40,000 Qjojh 80,000 

ekpZ 45,000 ekpZ 81,000 

vizSy 40,000 vizSy 90,000 

deZpkjh dks etnwjh nsuh gS ` 5]000 izfrekgA 1 tuojh dks 
jksdM+ ckdh ` 8]000A izcU/k }kjk ;g fuf’pr fd;k x;k gS  
fd % 

(i) ` 10]000 dh lhek ds vUnj deh dh n’kk esa cSad ls 
izcU/k fd;k tk ldrk gSA 

(ii) ` 10]000 ls vf/kd ijUrq ` 42]000 dh lhek ds vUnj deh 
gksus ij _.ki=ksa ds fuxZeu dks izkFkfedrk nsuh gSA 

(iii) ` 42]000 ls vf/kd deh gksus ij le va’kksa ds fuxZeu 
dks izkFkfedrk nsuh gSA 

From the following information, prepare a cash budget for 

the period from January to April : 

Expected Sale Expected Purchase  

 `  ` 

January 60,000 January 48,000 

February 40,000 February 80,000 

March 45,000 March 81,000 

April 40,000 April 90,000 
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Wages to be paid to workers ` 5,000 p. m. Cash balance 

on 1st January may be assumed to be ` 8,000. It has been 

decided by the management that : 

(i) In case of deficit within the limit of ` 10,000 

arrangement can be made with the bank. 

(ii) In the case of deficit exceeding ` 10,000 but within 

the limit of ` 42,000 issue of debentures is to be 

preferred. 

(iii) In the case of deficit exceeding ` 42,000 the issue of 

equity shares is to be preferred. 

vFkokvFkokvFkokvFkok    

(Or) 

‘kq) dk;Z’khy iw¡th pkyw lEifŸk;ksa ij pkyw nkf;Roksa dk vkf/kD; 

ugha gksrk gSA le>kb,A 

Net working capital is the excess of current liabilities over 

current assets. Explain. 
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